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roaktlolololiox %ﬂg«ag’g (Assembly Language) ;.’ugﬁ’é’;%g (Compiler) (SOZ) Noleleiololkakiok
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(A) Assembler (B) Interpreter (C) Compiler
(D) Pre-processor (E) Cross-compiler (F) Macro processor
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G) Pass 0 (H) Pass 1 (1) Pass 2 |
(J) Pass 3 (K) Queue (L) Symbol Table |
(M) Op-code Table (N) Syntax (0) Semantics |
(P) Lexcial Analysis  (Q) Syntax Analysis (R) Grammar |
(S) Semantic Analysis (T) Code Generation (V) Instruction Point |
(V) Program counter (W) Location counter (X) Program register |
(

Y) Compiler-compiler (Z) LA LBLITHS ' I

J

(1) SEMOIECIITEREARIERE, (550:RIF I 555 (Syntax Error)
ZENE., WHERRIERI0Y4RE T R 5 IR~ 7

(2) CompilerfiInterpreter JLWMLASHITRRISEISAM 2

() HHARAETNRFAT T, IE—FSREHIFEI40E 9125 (Object Program)
NyREE 7

(4) YEIBK PC/AT %METELE MacintoshFGEBAITOUTRS A E R A — MBS 7

(5) Macro expansion FHAEEEERITHE D, AT 2

(6) Assembler SHiFMAMRHR, MAZHAIS I 7

(7 Interpreter ESMOEIT AR 7

(8) Token FAMHEMNFIHUMBYESL 7

(9) #B—HAKYIR:F2IBIRY Code Optmization HYTHEE 2

(10) {FRe% &A1Y Command Language Processor EMERMIN—GRigs 7

2. fAliN Pass ? A0 Pass BUENESMSTESUIESIRITNY (Compiler) 2E3f%. (100
3. HFATRAIT 2 TR U B RS AR A4 & 555 T ARTMIE (DisassemblesfUnassenble),

ARSI R TG PR A 2 P S R T B A B B B R I A R SRR 2 IR Y
H(Source Program)? HEILARIGAIBIMIAHET, HARILIRISSRIEE. (103)
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PART IL
Operating Systems

(1) Explain the concept of spooling. (8%)
(2) Explain the concept of capability-based protection. (8%)
(3) Explain and compare the meanings of the following terms. (12%)

(A) program.
(B) image
(C) process

(4) Among the following computer resources, which are preemptible ?
Give explanations for your answers. (6%)

(A) CPU .
(B) memory

(C) magnetic tape drive

(D) printer

(5) Among the following descriptions about the virtual memory systems,
which are incorrect ? Give explanations for your answers. (16%)

(A) The page fault rate is independent of the program structure,
but is dependent on the size of the physical memory allocated
to the program.

(B) A global page replacement policy would be mcre likely to cause
thrashing than a local page replacement policy.

(C) Compared with a pure paging system (such as the VAX), a pure
segmentation system (such as the 80286) has advantages on
real memory management.

(D) Theoretically, during the execution time, a process needs
only one physical memory frame (or page as some systems call it).
to complete its execution.
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